
 

 

1 

agg. 10/2022 

 

 

 

 
 
 
 
 
 
 
 

Description  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

General feature: 

Screws 

M6 UNI 7687  
 

D = 12 

K = 4,75 

L = 14 

Cage nuts 

M6 and S – steel 1,7 – 2,7 

A = 13,2 

B = 8,2 

C = 9,5 

E = 0,5 

F = 13,5 

G = 6 

Washer 

M6 plastic  

D1 = 13,8 

d1 = 6,4 

H = 3,6 

 
 
 
 
 

Ordering Information code: 

OC-RAC-550230-01S ORCA - Kit 50 screws and cage nuts  M6 - Silver 

OC-RAC-550230-01N ORCA - Kit 50 screws and cage nuts  M6 - Black 

OC-RAC-550230-00S ORCA - Kit 50 screws, washer and cage nuts  M6 - Silver 

OC-RAC-550230-00N ORCA - Kit 50 screws, washer and cage nuts  M6 - Black 

 

RACK ACCESSORIES 

SCREWS AND CAGE NUTS M6 KIT 

Contributes to cooling and air exchange inside the rack cabinet, prevents overheating of the active devices 

installed. 


